SP, CP, MP
basic questions

Concept Lecture - 1
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A trader lists his articles 20% above
cost price and allows a discount of 10%
on cash payment. His gain % is:

Th AR dRd #ed § 20% F9
YA TEGH F FAwey wT @
iR Twg STt W 10% #H B
aar &1 3FST % ¥

a) 10% (b)8%

c) 6% d) 5%
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The cost price of an article is 649% of the
marked price. What is the gain % if a
discount of 12% is allowed?
TF qE] N AR Hed, AfFd qed
T 64% ¥ IR 12% a?rma
STl &, amer % w2

@)37.5% b) 48%

c) 50.5% d) 52%




Arvind purchased a wrist watch with 30%
discount on the labelled price. He sold it
with 40% profit on the price he bought.
What was his per cent loss on the labelled
price?

T FAeT I 30% BT Wtd FA

a?r AT R 3ifed Ara w39 fraw
% @ gifer §5?
@)2 b) 6 c) 4 d)8




A man bought a watch at 25% discount on
the original price. He got Rs.40 more than
the original price by seIIinﬁgj at 140% of
the price at which he bought. The price of
buying the watch was?

T Al A AT FIAT W 25% T W
vw g @il 39 Hel AT @ 40 T
sfs fAen, 99 38 39 AsT ¥
140% X =T, 9 W 38 @har ol
g3l @l AT fAd AT HifoA?
){800 b),700

c) 900 600




A shopkeeper allows 23% commission on his
advertised price and still makes a profit of
@_@If he gains Rs.56 on one item, his
advertised price of the item, in Rs. is

T gHEER H9 faafd qea W 23%

FHT & dEeE 10% AT FETET
If 98 UF 9€q 9T 56 § A FAET T,

ar a€q &1 RANG qod AT W
a) 820 b) 780
c) 790 @800




A dealer fixed the price of an article 40%
above the cost of production. While selling
it he allows a discount of 20% and makes a
profit of Rs. 48. The cost of production (in
Rs.) of the article is

th fahar & a¥q &1 AW WS
AN Hed § 40% HOF T@ar §] aw
W aE 20% B a1 § 3R A o 3@
48 xwmﬂ@mﬁaﬁrﬂm
Hed qar &

a) 360 b) 420 c) 320 400
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After giving discount of Rs. X) a shopkeeper

Cp MP gained 17%. If the discount is not offered,
0 “57P -16 12% then he makes 33% profit. Ii( CP is 725@
0 , i

then find the value of X.

X T3 &1 e A & a5 T
L9y 17% T W1 FATT 8| If& 96 B 7

A5 ), ar 3/ 33% FT o Aar ¥ IR FU

Hed 725 T9X ¢ A X T AT AT H|
a)110 ¥ 116 132  d)124




6%

54 MP= |800 %

RO/ o MP= 23800

Arun purchased a T.V. set at 20% discount, If
he gets a discount of 25%, he saves Rs.1800,
for how much does he purchasd the T.V set?
3FUT A 20% T W Th Al @lien g
¥ 250 1 ge fad §, ar a8 1800%
TaraT ¥ 38T A frad & wler
a) Rs.33000 b) Rs.31200
s.28800 d) Rs.36000
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An item is sold for Rs.280 after allowing
(20% discount) Instead if only 10% discount
is allowed, at what price, the article would
have been sold?

20% B & 9 UH &G P 280F A
¥ T R RAE 10% & gc &

STt @ v fFasr & I Sl
a) Rs.300 b) Rs.305
(cPRs.315 d) Rs.320
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. . 2 .
By selling an article at 3 of the marked price,

there is a@:ss of 10@ The profit per cent,
@ when the article is sold at the marked price is

IFT AT & 2/3 W TF a&q a° @
2 —— Qo 10% # gIfr Bt ¥ wmer wivera F4r @,
3 I T B IHfha AT W AT FAEAT?

us a) 20% b) 30%
1 ﬁ%xﬁ @)35% d) 40%
X
135/,
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A Shopkeeper sold a TV set for Rs.17,840,
with a discount of 8% and gained 19. 6%. If
no discount is allowed, then what will be his
gain percent?

THh qHEGR @ 8% I TT q TH
A F 17,840% F J=r o o 3@
19.6% a#rmgﬂ?ma'gaﬁéaﬂ
T T a1 at IHST AHY, e g
a) 25% b) 26.4%

c) 24.8% (d)30%




Jhun jhunwala make 1000 toys and incurs a cost of C for

each toy. He marks-up the price in such a way that if he

7 sells only 70% of the manufactured toys_he .wiII realize
& %16' 66% overall profit. He sells only 750 articles at the
5 marked price since rest of the toys are found to be
defective so can’t be sold, what is the net profit or loss of

+5-
75'/0 - Z’Q'S:' Jhun jhunwala?
KX g gearenr 1000 f@eld sarar § 3R 9w @l F
Z,U{ faT 1.2 &Y AN g8 FIAT 81 98§ AT 3T R & i
2 ar ¢ % g ag AT @elat &1 Faa 70% dwar g @
5 3@ T ATH 16.66%9T NN IF Hfha 7eq T Faar 750
=)t aeqt awer ¥ iR el www aw s ¥ e
1 Waﬁmmgagmme@mmaﬁw%9
a) 14.44% loss 5% Profit
c) 33.33% Profit d) None of these
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A dealer get Rs.60 profit by selling an article at
_60 C;P ' 20% discount and gets Rs.60 loss at 40%

} t+ discount, what is the C.P of the articles?
7 Tof 80/ o MP 20% I T & W TH fashel I 60F FI
60/ ®IIeT g § 3R 40% # B W 60%

6« 107 a»-rmmg’lm%m'srarcranmm
-’ ﬁ-?
Yo a) Rs.600 b)Rs.540

Z c)Rs.480 (d))Rs.420 e) 360




Marked price of A is Rs 1600 more than its
cost price. When discount on A is Rs 500,
then a profit of 25% is obtained. At what
price should A be sold to obtain a}%% profit?
A @ Rfta fwa e aua T @
1600 TIT AHAF 3] ST A W T 500
F. 8, @ 25% T T 9Ied aT 8] 30%
T yIeT F F fAT A F R qer W
9T AT ATfgu?

a)8580 b)5200 ¢)5500 (d)5720
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A publisher printed 2000 copies of a book at
a cost of[ Rs.70000) He distributes 400 copies
free as specimen copies. He gave
30% discount on printed price_and the
printed price of each book is( Rs.751 What is
his gain or loss per cent?

TFH YHIRMEF o 70000 § HT ANIT G TH
gEad $1 2000 gfaar srdi 3@A 400
gt T gl & w9 A fFala &%
feT mmu—awso%aﬁwa

mmmmaﬁmn—aﬁ T
| IHFT T8 AT g faerd 41 &2

20% gain b) 20% loss

c) 10% loss d) 10% gain
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A dealer buys an article marked at Rs.25000
witanf. He spends Rs.1000
on its repairs and sells it for Rs.25000. What
is his gain or loss %?

TS SN 20% 31X 5% #T T€ 9T 25000
¥ 3fra FY 1 E arcr N GG
¥ 9% FEM AFAT W 1000 TYF T@F

FIAT § 3T 3@ 25000 T F d=ar B
3HFT AT AT X % AT hford?

é"’/@‘b\—\' |00 O a)lossof25% ain of 25%

25009

29000

c) Gain of 10% d) Loss of 10%
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If the ratio of the mark price and selling
price of an article is 13:9 and the ratio of
discount given and profit earned is 6 : 5

then find the selling price of the article if,
cost price wa
afy Pl aeq & 3ifea Ao 3k
Hed &I 39T 13:9 § 3k R 7w ge
3R AT FT HAUT 6:5 ¥, A TEG F
fwa #Aeg A | I, amrd 7w
9520 |

Rs 15120 b) Rs 17010
c)Rs 13770 d) Rs 12960
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Cost price of 12 article is equal to selling

j12CP= aspP IOD=5 P price of 9 article, while the discount given

‘1,IZ' ;3_}_) pD_5._| on 10 articles is equal to the profit earn on

3;5‘ CpP ——’—(—6:“—5 articles. Find the difference between
P profit % and discount %.

2 \ 12 d@ 1 aFT HeF 9 oF H s

2 —se il —3 Hed & T 3, JafF 10 o8l 9T &

' ‘- \ I T 5 J@ W A AHfold FT &

P s? MP T 8] T A % IR T % F =

e 4 AT
Jd 22.22% b) 33.33%
6 8 .1 ¢) 11.11% d) 44.44%
Q —I-:.H. I\ -/ .
q 22.12.
;6—_ 23 5%y
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One saree was purchased for X 564 after getting
a discount of and another saree was
purchased for w after getting a discount of
1%. Taking both the items as a single
transaction, what is the percentage of discount?
TF AH 6% B W I564F TG T
3R gl A 1% #it g€ W 3396 H @A
TS| el SEIH P UF § AT-GT F T A
od §U, T FT gfaud 41 §7?

a)3.5 4 c)7 d)7.5

CcDS 20
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The marked price of an article is 50% above
cost price. When marked price is increased
by 20% and selling price is increased by

the profit doubles. If original marked

price is Rs.300, then original selling price is
TH qE] I 3ifrar Aed 30F HT Ad
¥ 50% 3N ¥ ore 3ifkd ?FI_~!T "
20% # FEfr et ¥ IR AT qew

C

20% A e Al &, aF AT Q9T @

SaT ¥1 AR e sifka Hew 300 3 B,
\X?b G CREER :H—zr AT T
a)Rs.240  (b)Rs.250
3%% ¢) Rs.240 d) Rs.275




The cost price and the marked price of an
\ ' item X720 and X900 respectively. When it is

sold at a discount of x%, the profit

(60 + ioo—l Qg@—

What is the value of x?
jPes 2_0_ frelt avg =1 w7 7T IR AfFT T
C v AU 720 3T 2900 ¥ T T x%
a.a.r 5x00 a7
U0+Yx = 20p-2% ;Ex"; mmag :‘m?ﬁ % WTST gy

TJ2= 60 asy (87 @975 A5

X=Q0_ oV o \—& x
1785 o e 6o
W
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